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Binary Choice (worth 1.5 points each)

1.  The statement “Taking class attendance will encourage students to attend discussion sections” is a:
a. Positive statement.
b. Normative statement. 

 
2.   PPFs have a bowed-out shape because:
a.     The producer of the first few units of a good is the producer that can produce the most of that good.
b.     The producer of the first few units of a good is the lowest-cost producer of the good.

3.  Two employees at a snack stand, Haley and Jacob, make pretzels and popcorn. Haley has a comparative advantage in making pretzels while Jacob has a comparative advantage in making popcorn. If production of these two goods is occurring efficiently, who should be the one to produce the first pretzel?
a.     Haley
b.     Jacob


4.  Suppose that a barista can make 5 Macchiatos or 9 Cappuccinos every ten minutes. What is the opportunity cost of creating one Macchiato?
a.     9/5 Cappuccinos
b.     5/9 Cappuccinos



5.  General Motors reported an increase in revenues the company earned in 2016. What could be a possible explanation for this increase in revenues?
a.    Prices of gasoline fell during this period. 
b.    GM announced that they would expand their GM production facilities next year.

 
6.  Consider the market for Turkish Lira (the Lira is the currency unit in Turkey).  Assume that due to economic instability foreign investors are less willing to invest in Turkey. Given that the supply of Lira stays the same and holding everything else constant, what will happen to the price of Turkish Lira given this information?
a.    The price of Lira will increase.
b.    The price of Lira will decrease.

 
7.  Uber officially came to the Singapore market in 2012. Two years later a South-Asian startup transportation company, Grub, expanded to Singapore. Given that the demand for these services stayed the same within this period and holding everything else constant, what do you predict happened to the equilibrium price for transportation services in Singapore given this information?
a.    The price for transportation services increased.
b.    The price for transportation services decreased.


8.  Suppose you care more about domestic consumer welfare than domestic producer welfare. If this is true for you, then you will support your country's policy to open up a market to international trade when the world price in that market is greater than the autarky (close market) price. 
a. True
b. False


9.  Stacy works 10 hours per week at the front desk of the SERF. In addition, Stacey works 5 hours a week tutoring Econ 102.  If Stacey makes $15/hour at her desk job and $25/hour tutoring, and only pays taxes on her work at the SERF, what is the impact her employment has on GDP per week?
a.    ($25 x 5) + ($15 x 10) = $275 per week
b.    ($15 x 10) = $150 per week


10.  In a simple economy, the government spends $200 million in the market for goods and services and collects $200 million in taxes. Consumers spend $800 million in the market for goods and services and receive $1000 million in wages, profits, and other forms of income from the factor markets.  Firms pay out $1000 million to the factor markets.  What is GDP in this economy? (Hint: draw a circular flow diagram).
a. $1000 million
b. $800 million
Multiple Choice (worth 3 points each)

11.  Using the following description pick the correct graph: for every 5 unit increase in the x variable, the y variable increases by 2 units. In addition, you are told that the y-intercept is above the origin.


 






a. Graph A
b. Graph B
c. Graph C
d. Graph D
 



12.  Below we have a table of the U.S. unemployment rate and Real Gross Domestic Product.  What appears to be a general relationship between the unemployment rate and Real GDP?


	Quarter
	Unemployment Rate
	Real GDP, (billion 2009 dollars)

	Q4 2013
	6.9
	15793.9

	Q1 2014
	6.7
	15747.0

	Q2 2014
	6.2
	15900.8

	Q3 2014
	6.1
	16094.5

	Q4 2014
	5.7
	16186.7

	Q1 2015
	5.5
	16269.0

	Q2 2015
	5.4
	16374.2

	Q3 2015
	5.1
	16454.9

	Q4 2015
	5.0
	16490.7

	Q1 2016
	4.9
	16525.0

	Q2 2016
	4.9
	16583.1

	Q3 2016
	4.9
	16727.0

	Q4 2016
	4.7
	16804.8


Data Source: https://fred.stlouisfed.org/

a. Real GDP appears to be a multiple of the unemployment rate.
b. As the unemployment rate falls, in general, real GDP rises.
c. We can conclude that the unemployment rate has strictly been between 4.7 and 6.9 percent over the entire U.S. history.
d. Whenever real GDP is above $16,450 billion, the unemployment rate is below 5.0%.


13. Given the following PPF, what is the opportunity cost of producing five mangoes?
[image: ]
a. 2/5 coconuts
b. 
c. 2 coconuts
d. 12.5 coconuts

Use the following information to answer the following 4 questions.

France, America, and Hungary each produce maple syrup and corn. Suppose that in one year France can produce 9 million bushels of corn or 3 million quarts of maple syrup. America can produce 12 million bushels of corn or 6 million quarts of maple syrup, and Hungary can produce 5 million bushels of corn or 1 million quarts of maple syrup. All three countries have linear production possibility frontiers in these two goods. 

14. America’s opportunity cost of producing an additional bushel of corn or an additional quart of maple syrup are ________ and __________ respectively. France’s opportunity cost of producing an additional bushel of corn or and additional quart of maple syrup are ________ and _________ respectively. 
a. 1/6 quart of syrup; 6 bushels of corn; 1/2 quart of syrup; 2 bushels of corn
b. 2 quarts of syrup; 1/2 bushel of corn; 1/3 quart of syrup; 3 bushels of corn
c. 1/3 quart of syrup; 1/2 bushel of corn; 3 quarts of syrup; 2 bushels of corn
d. 1/2 quart of syrup; 2 bushels of corn; 1/3 quart of syrup; 3 bushels of corn

15. Which country has the comparative advantage in producing corn? Which country has the comparative advantage in producing maple syrup?
a. America has the comparative advantage in producing corn while France has the comparative advantage in producing maple syrup.
b. America has the comparative advantage in producing both corn and maple syrup.
c. Hungary has the comparative advantage in producing corn while France has the comparative advantage in producing maple syrup.
d. Hungary has the comparative advantage in producing corn while America has the 
comparative advantage in producing maple syrup.

16. Consider the scenario where 8 million bushels of corn and 8 million quarts of maple syrup are produced in total between the three countries. In order for this scenario to be possible, which of the following is true?
a. America is producing 10 million bushels of corn and 1 million quarts of syrup. 
b. Hungary is producing 4 million bushels of corn while France and America are each producing 2 million bushels of corn.
c. France is producing 3 million bushels of corn and 2 million quarts of syrup.
d. France is producing 5 million bushels of corn and 1 million quarts of syrup. 

17. At which of the following prices does trade NOT take place between these three countries? 
a. The price for one bushel of corn is 1/6 of a quart of maple syrup.
b. The price for one bushel of corn is 1/4 of a quart of maple syrup.
c. The price for one quart of maple syrup is 5/2 bushels of corn.
d. The price for one quart of maple syrup is 4 bushels of corn.
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Use the following information to answer the following 2 questions.

 
18. The young economist discovered the following linear demand schedules for fitness classes:
	Price of fitness class
	Quantity demanded by Students
	Quantity demanded by Non-students

	$ 5
	20
	10

	$ 25
	0
	5


Suppose that 20 fitness classes are sold. Given the above information and holding everything else constant, what is the price per class?
a. P = $10 per class
b.   P = $13 per class
c. P = $8 per class
d. P = $12 per class 

19. Now suppose that the market determines the equilibrium price of fitness classes. The demand information from the previous question has not changed, but you now know that the market supply curve for fitness classes is given by the following equation where P is the price per fitness class and Q is the quantity of fitness classes: 
Market Supply Curve: P = 2 + Q

At the market equilibrium price, students will buy _______ classes, while Non-students will buy _______ classes.

a. 5 classes; 8 classes
b. 7 classes; 6 classes
c. 8 classes; 7 classes
d. 9 classes; 6 classes


20. Every month Anna purchases 2 movie tickets at P = $6 and 4 textbooks at P = $2. Assume that the price of tickets decreased by 25%, while the price for textbooks increased by 50%. Given this information and assuming Anna still purchases 2 movie tickets and 4 textbooks, what is the percentage change in her total expenditures holding everything else constant? Anna's expenditures
a. Increase by 25%.
b. Decrease by (100/21) %.
c. Increase by 5%.
d. Decrease by 50%.
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Use the following information to answer the following 3 questions.

Imagine on Crusoe Island, there are two producers of coconut milk: Robinson and Joy. Their individual supply curves are given by the following equations where P is the price per bottle of coconut milk and q is the number of bottles produced by the individual:

Robinson’s supply function: P = q + 2 
Joy’s supply function is P = 2q + 4 

The market supply is given in the following figure. In addition, you are provided the equation for the domestic market demand for coconut milk where Q is the market quantity as:

Domestic Market Demand curve:     

[image: ]

21. Suppose the world price for one bottle of coconut milk is $ 3. Which of the following statements is correct after Crusoe Island opens this market to international trade.
a. Joy supplies 1 bottle of coconut milk
b. Robinson supplies 1 bottle of coconut milk.
c. Crusoe Island imports 7 bottles of coconut milk.
d. Crusoe Island imports 8 bottles of coconut milk.   

22. Suppose the government implements a tariff on imported coconut milk after opening this market to trade. The government wants the tariff policy to not hurt consumers too much (that is, domestic consumers will be impacted, but with the smallest impact of the choices), while at the same time, allowing both Joy and Robinson to stay in the market for coconut milk. Given these goals, the information you have been given and holding everything else constant, which of the following tariff policies will the government most likely take?  The government implements a tariff of:
a. $0  per bottle of coconut milk.
b. $0.50 per bottle of coconut milk.
c. $1.5 per bottle of coconut milk.
d. $2.00 per bottle of coconut milk.
23. Suppose the tariff on imported coconut milk is $ 2 dollar per bottle. Given this tariff, the provided information and holding everything else constant, what is the deadweight loss of this tariff policy?
a. $6.50
b. 
c. 
d. 





































EXAM CONTINUES ON NEXT PAGE!!

Use the following information to answer the following 2 questions.

Suppose the world price of coffee mugs is 3 dollars. You are also given the following equations for the domestic supply and domestic demand for coffee mugs where P is the price per mug and Q is the quantity of mugs:

Domestic Market Supply: Q = 3P
Domestic Market Demand: Q = 20 - P

24. Which of the following policies would result in the domestic price of mugs being lower than the closed market price of domestic mugs and greater than the world price?

a. A tariff of three dollars on each imported mug.
b. A tariff of two dollars on each imported mug.
c. An import quota restricting imports to 7 coffee mugs.
d. An import quota restricting imports to 9 coffee mugs.

25. Given the above information and holding everything else constant, what is the consumer surplus and producer surplus if the government restricts imported coffee mugs to 4 imported mugs?
a. Consumer surplus is $130; Producer surplus is $24.
b. Consumer surplus is $110; Producer surplus is $30.
c. Consumer surplus is $128; Producer surplus is $24.
d. Consumer surplus is $128; Producer surplus is $30.






















26.  Consider the market for smartphones in China, where Q is the quantity of smartphones measured in millions and P is the price for each unit of smartphone in Yuan, ¥. 
There are 3 main smartphone producers: Huawei, Apple and Vivo. The firm supply curves are provided in the following equations:

Supply for Huawei: P = 1500 + 10Q
Supply for Apple: P = 1000 + 10Q
Supply for ViVo: P = 500 + 25Q

You are also provided the market demand curve for smartphones in China:

Market Demand: Q = 530 + (-4/25)P 

Given this information, what is the equilibrium price in the Chinese market for smartphones?
a. P = ¥1500
b. P = ¥2000
c. P = ¥2200
d. P = ¥2500


























EXAM CONTINUES ON NEXT PAGE!!
27. According to David Robinson of Rutgers University, the snowfall season has become shorter in many well-known skiing places such as the Alps, as natural snow arrives later and melts earlier than it once did. As a result of this change in weather patterns, more and more resorts seek alternative ways to satisfy snow-seekers.  A primary alternative way to satisfy snow seekers is through the use of more artificially made snow. In addition to the change in weather patterns of recent years, recent research into snowmaking equipment has resulted in the development of  cheaper snowmaker equipment. Which graph shows the changes in the market for snowmaking equipment?

[image: ]
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a.	Graph A
b.	Graph B
c.	Graph C
d.	Graph D


 
28. Below we have a table summarizing the daily activities of a local bakery/cafe, including the flour mill where they get their flour and the coffee roaster where they get their coffee. You are also told that the total profits for the three firms total $200. Assume that this table includes all relevant costs, all other factor payments and all relevant sales. 

	
	Flour Mill
	Roastery
	Bakery

	Cost of ingredients (inputs)
	$0
	$0
	$120 flour, $150 coffee

	Payroll to workers
	$100
	?
	$120

	Sales of product
	$120
	$150
	$500


Given the above information and holding everything else constant, what was the Roastery’s payroll to workers?
a. $20
b. $80
c. $110
d. $100

29.  Below we have a table summarizing spending in a small economy (all values are in millions of US dollars):

	Category
	Amount in millions of dollars

	Government spending
	

	     Federal
	$3,500

	     Total Local Government Spending
	$2,000

	Consumer Spending
	

	     Goods
	$2,300

	     Services
	$5,000

	Private Investment Spending
	$4,000

	Trade Spending
	

	     Exports
	$3,800

	     Imports
	?



If GDP for this small economy is $17,000 million, what is the dollar value of imports for this economy?
a. $3,600 million
b. $0 million
c. $2,000 million
d. $1,600 million


EXAM CONTINUES ON NEXT PAGE!!



30. Bob runs a burger joint.  Each burger contains $1.50 of meat, $0.50 of tomato, $0.25 of lettuce, and the buns are $1.00 each.  He buys all the materials (i.e. he does not raise any cattle, grow any vegetables, or bake any bread).  Bob sells each burger for $5.00.  Given this information and holding everything else constant, what is Bob’s contribution to GDP per burger that he produces?
a. $5.00 per burger
b. $1.75 per burger
c. $2.50 per burger
d. $3.25 per burger



















Answers:
3. A 
3. B
3. A
3. A
3. A
3. B
3. B
3. B
3. B
3. A
3. A
3. B
3. C
3. D
3. D
3. C
3. A
3. B
3. C
3. C
3. B
3. C
3. B
3. C
3. C
3. B
3. A
3. B
3. A
3. B





Graph B
Y-Values	10	-10	-2.333333333333333	4.3333333333333339	


Graph C
Y-Values	5	-5	13.5	-11.5	


Graph D
Y-Values	-10	10	-3	1	


Graph A
Y-Values	-10	10	-3	5	
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